
Date:
Reference: Ørsta Marina Systems AS

Th
is

 d
ra

w
in

g 
ar

e 
ou

r p
ro

pe
rty

, a
nd

 m
us

t n
ot

 b
e 

co
pi

ed
, o

r b
e 

m
ad

e 
av

ia
bl

e 
fo

r o
th

er
s,

 w
ith

ou
t o

ur
 c

on
se

nt

Finger

T:\04 Marina\M-0531.idw
02.05.2006
1  of 3 Side no.:

Assembly of coupling against pontoon

D
oc

. n
o.

: 2
03

0-
20

-1
01

A
E

 - 
R

ev
: A

 - 
D

at
e:

 2
1.

09
.2

00
6 

- A
pp

ro
ve

d:
 J

S
T

Finger
Assembly of coupling

against pontoon



Spanner for M12 ( M16) 

Date:
Reference: Ørsta Marina Systems AS

Th
is

 d
ra

w
in

g 
ar

e 
ou

r p
ro

pe
rty

, a
nd

 m
us

t n
ot

 b
e 

co
pi

ed
, o

r b
e 

m
ad

e 
av

ia
bl

e 
fo

r o
th

er
s,

 w
ith

ou
t o

ur
 c

on
se

nt

Finger

T:\04 Marina\M-0531.idw
02.05.2006
2  of 3 Side no.:

Assembly of coupling against pontoon

D
oc

. n
o.

: 2
03

0-
20

-1
01

A
E

 - 
R

ev
: A

 - 
D

at
e:

 2
1.

09
.2

00
6 

- A
pp

ro
ve

d:
 J

S
T

1 Exploded general assembly of rubber hinge

Item 3 x 1
Bow

Item 4 x 1
Rubber hinge

Item 5 x 1
Bracket

Item 6 x 3
M16 - DIN 985 A4

Item 7 x 6
M16 - DIN 125 VZ

Item 8 x 1
M16x140 - DIN 931 VZ

Item 9 x 2
M16x70 - DIN 933 VZ

Item 10 x 2
M16x35 - DIN 933 VZ

Item 1 x 1
Bracket

Item 2 x 1
Bracket

Item 2 x 1
Bracket

Item 1 x 1
Bracket

Replace bout item 1 ant 2.
Item 1 x 1 Bracket
and Item 2 x 2 M12x180 DIN 931 VZ

For C-Profil pontoons: For standar steel pontoons: For pontoons with
128x148 wood fender:

1

2

7

6
8

7

3

7
6

7

4

5

9
10

A

A

Necessary equipment:
 
Prestressing factor:
M12 = 87 Nm
M20 = 412 Nm
 
NB! 
- Do not tighten until defomation of any steel or plastic 
parts.
 
- Do not put the steel construction directly at the ground 
to prevent damage at the surface.



 

Date:
Reference: Ørsta Marina Systems AS

Th
is

 d
ra

w
in

g 
ar

e 
ou

r p
ro

pe
rty

, a
nd

 m
us

t n
ot

 b
e 

co
pi

ed
, o

r b
e 

m
ad

e 
av

ia
bl

e 
fo

r o
th

er
s,

 w
ith

ou
t o

ur
 c

on
se

nt

Finger

T:\04 Marina\M-0531.idw
02.05.2006
3  of 3 Side no.:

Assembly of coupling against pontoon

D
oc

. n
o.

: 2
03

0-
20

-1
01

A
E

 - 
R

ev
: A

 - 
D

at
e:

 2
1.

09
.2

00
6 

- A
pp

ro
ve

d:
 J

S
T

2 Installed at C-Profile

3 Installed at standard steel pontoon.

4 Installed at pontoon
with wood fender.

1

2

1 2

1

2


